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. _;X—Lsz XJ' + C‘ijz X:K\)'X\O(_a
<> = 4 X e

O (X,.-- X&)
z(M.C)

Pm—g : T‘/\l ‘o [JD'M“C /{;Md‘/n’% ™

. - XMy X; e | v
g dx & 2

< Kg K T(CB\(_Z X1XJ X\QX‘Q> . XD{X(;

>—=
¥ Z(4.C)

o ST AMEG i
To compute the SW\ﬁle, teym S dx € \,—!@i_jh@ X-L’f)x“xf) Xt %,

T
we vned to mbwdue naw  vaviables D = (Ji--dn)

. xR+ T R T RGN EE
f3)= {4 e — | e
C‘Mﬂl\gz o{' vavickle Y=X-V, wheve \/=(('~1-‘)Tj_
_ w4
T e
.(&t(M)
" _-;—X"ng\j

—n\w, to  compute gcl" € K‘xjx“xﬂxo&xF we tike  the Sdfeentton
;TL"‘ ;je sj.;. zj(s on -t‘r\z 0‘vwe ezualﬂ—,y at =0 .
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